
fiber ≤ 6.5
gini = 0.365

samples = 50
value = [12, 38]

class = 1

spicy ≤ 0.5
gini = 0.5

samples = 20
value = [10, 10]

class = 0

True

age ≤ 58.5
gini = 0.124

samples = 30
value = [2, 28]

class = 1

False

fat ≤ 11.0
gini = 0.278

samples = 12
value = [10, 2]

class = 0

gini = 0.0
samples = 8
value = [0, 8]

class = 1

gini = 0.0
samples = 8
value = [8, 0]

class = 0

fat ≤ 14.5
gini = 0.5

samples = 4
value = [2, 2]

class = 0

fiber ≤ 3.0
gini = 0.444
samples = 3
value = [1, 2]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.0
samples = 2
value = [0, 2]

class = 1

fat ≤ 3.5
gini = 0.067

samples = 29
value = [1, 28]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0

sex ≤ 0.5
gini = 0.32

samples = 5
value = [1, 4]

class = 1

gini = 0.0
samples = 24
value = [0, 24]

class = 1

gini = 0.0
samples = 3
value = [0, 3]

class = 1

spicy ≤ 0.5
gini = 0.5

samples = 2
value = [1, 1]

class = 0

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.0
samples = 1
value = [0, 1]

class = 1


